[ Efficiency vs vertpos |
= 0.1
£ 0.09
g
5.0.08
8}

30.07
o

$0.06
0.05
0.04
0.03
0.02
0.01

o 0Qf

g | . . :

o HE R
H - ¥ . .
1t - n R R
I -+

1072 107 1

—ehoC

11111

10 0?
TP vertr (cr%)
Efficiend —— %g

Icw 4Zg§8§..n{vcw. +660evt
ﬁs %%igﬁ 1RO TLIERS 1000evt
~ 0.2

L

o B 1 E
L T S STCITE S
> I . a . . .
2 E. P S CR R PR
9014: . d . . .
| CTTE NN S B
R : : : :
s
N S SR
e SR | SE SN

17| SETRR SR
0.02F -+ +beeeees

i

[ —a—
. R

Ratio

i
T

0.9F------- FERETIEE H

%920 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2

D>-_0.18:
So.16f
90 14F
CO 12F

0.
0.08F
0.06f
0.04f
0.02F

10

efficie

Ratio

1.

Hy

i

0507215 =10 5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


